Name: ___________________________  

EE485A: Introduction to MEMS

Problem Set 3
(Due 09/15/09)

1. Problem 3.18

2. Problem 3.19
3. Problem 3.23  (for case (f) you can assume that the beam behaves about the same as if you straightened out the serpentine beam into one long cantilever)
4. Problem 4.4.  For this problem consider that each support beam is a separate spring and the center square is the suspended mass.   Note that each support beam has the characteristic of a “fixed-guided” beam (not fixed-free as we’ve done in class), and use Appendix B in the text to determine how to find the spring constant for each support beam.   
5. For the device you examined in part 4, determine how far the center mass would deflect in the presence of a ‘10 g’ acceleration if the plate were 10 m thick and made of silicon (with density 2300 kg/m3).




























